@ X= IZ ‘?o Ia-Ox - 1230‘ﬁ0‘70 B _
X= 12'9090 — —~

QX = 1238 x= 1238 _ [T
A 7f!
- A -
X= 3613 g x= ¥643'33 . - -
~Jo x = 433 - - -
Gox = (852 x = 6852 . |un2
o s |
ﬂ 1295 +1c'/3 = 142, lUve 1ugq 2z |
H 15 15

@ Mz Je30.6% &
. 1 3
LR % 4 K (ng. oA
el x = |
O ‘\’:i\ SNV S RN (ab) = 1+%+36 = 4q = 3°
a=3 . PRI (°L\‘_ Qyl¢ ¥ 1hn = 169 = 132
b=\ l B
¢ 2 T
Pacew  Aedniirat g :— | — Atalta (V) = (a-b+1)
=a+i
)Wnﬁrwvo WT&V'LL/) Siuc
N L““\"}L N [d(}*\j} (A(e-\-\j-‘r\‘)
ﬂ\z*LO-H)L*’ [‘ksﬁr\j]l: a_1+ o-1+ 2o+\ + (a}*°)l = 2¢1+—<°+\+ 4\"‘\'2‘}"-‘: = \4. + 2¢S+3‘ +la -t
w5 4 3 .z 2 B
I‘{°+\\+\]L; af(a.a-\)" +~ laLa--f\')-t—\ - & (@1-\—10-+\)*L°-L+20-+ = G«FZO + < +21+Z°-+‘ = /
- la_ ~ 2’ ¢ 354 2o
@ lodoade ¢ 424 5 ZT=Y doq ., V=AM =25
p 4
1oz 100 Q- 81 3= € 3= Yt 6 =3
urpmi»-rl 78 le ‘—:](N. ‘—t»“a(rud.; I .\ wnedreds
( (&\n—a 1’13 ¥

“"‘J-f»\at«r 0)57\1 mu{m.-aru
A e ol Glee Poc e]‘owfl. PELINS PARPRLL S
[o,c,4,s,c,ﬁl

A»(fo [n ‘V\eD\I‘&M “-'\rM';\MW [Z 2R
Cnby: o'=0; =1 , 2=8 Yoz 5 =64 Slons  67:2¢ 5 ¥=343 5
23**512 43-32%
g |

\/Wn gu( lm b Yuukw TA(‘M«'\ PURN I 29N

(2" 5" (3 ) (2 e

3 y . I §
@ l/ 36 -\)1‘1 y 32t N2'3 o= (32-21)
IZ 2
R N B )z:ff;z



() 4 — g
L 2 33 R SAN 15 SF I8 i |
e _’ . TR 26 = Wzr - .'\}2,7 RN

A \)>+ hs +—W J—E = VS 3\rﬁ—él/5~‘l\/5~ (4+3+‘ V)\F—I?g] N—:_(

2 = 3

3 e <
‘ V;’Ez»rs{i B \JF“;;W* 208z rfl_ﬁji_ ir;[
A V5o - V18 (2 - 32 2yt
2 ALl i3 .. 2 T
—4-1 \YZ 0\4/ ) A,.+3 7 32 3 _ G\/‘l :kb?;I:I&ébr‘?t
,3 \/-'- —
2+]- 7
Zaf3[= 2¥ 24 2Jg = SaN<
o .
(o) - 5= =
@) o 2. ¥ i
Ve V7 ¢ 2
2 -
WL S v (51| <[
T
o 7 e (\[‘_‘*ﬁ)({[j+ﬁ) v (31 + {4 =‘3*?”“‘=Jﬁi=[_3]
ks N2r YT _____._._--————- 3 ___._————-—"‘_’—"_—- q
oon -l (=

3\}-34-2\’3 :_5_[%_;5 v/

Oﬁ. Lo ¢ \E—-nﬁ'z -
I

iz -3 23 - 3
| ¢ . (-(ﬁ-\ﬁ) . é!\ﬁ-\)'s) : ;(.ﬁ i) _
G+3 (AB) (-V3) 33

3‘)’#—\)34(

G2 W2 .
'S - i)—; __3__:-_ _,——\,g s _.3—— - =— X —a T
A\ 0'%*3\5-:'3: T T a2 2V 332 22Vt

- e v ave| | VE(2Br)

) \ﬂ;o T4 12
- -1, -3
? o 7—'3%' 2 3%'4-3 —z:3 =
"jﬁ»«“—-\)—"--.ers— .
a3+ 33-203 _ lar

5
-
|



